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2 3 JEDNOTLIVÉ KOEFICIENTY

1 Zadáńı

Necht’ f(x) je polynom čtvrtého stupně Vı́te o n+m, že: f(2) = −1 ; f ′
(2) = 0 ;

f ′′
(2) = 2 ; f ′′′

(2) = −12; f ′′′′
(2) = 24 : Určete f(−1), f ′

(0) a f ′′
(1).

2 Rovnice vyplývaj́ıćı ze zadáńı

f(x) = ax4 + bx3 + cx2 + dx + e

f ′
(x) = 4ax3 + 3bx2 + 2cx + d

f ′′
(x) = 12ax2 + 6bx + 2c

f ′′′
(x) = 24ax + 6b

f ′′′′
(x) = 24a

3 Jednotlivé koeficienty

16a + 8b + 4c + 2d + e = −1

32a + 12b + 4c + d = 0

48a + 12b + 2c = 2

48a + 6b = −12

24a = 24

Tedy:

a = 1

b = −10

c = 37

d = −60

e = 35
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4 f(−1)

f(x) = x4 − 10x3 + 37x2 − 60x + 35

f(−1) = 1 + 10 + 37 + 60 + 35

f(−1) = 143

5 f ′
(0)

f ′
(x) = 4x3 − 30x2 + 74x − 60

f ′
(0) = −60

6 f ′′
(1)

f ′′
(x) = 12x2 − 60x + 74

f ′′
(1) = 12 − 60 + 74

f ′′
(1) = 26
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